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Evaluate the expression.
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'Practice C

For use with pages 8-13

Evaluate the expression. ’ :
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Evaluate the expression.

ra._6(m - 4)y2€n m = 19 é (\q .-\.D = (, ("SB =.-@
B\ 7:2 + 2x when x = N B,
R A 736) "6 *

> -
7(;0 +2(1> - ) l?a‘ 5_’1’3:_4whenm=4andn=a_

= B &
7<q?.§-+'+ =l33a

8. 5[(4+9)-3)42 =




Translate the verbal phrase into an expression.

1. The difference of 9 and a number n l q -N ﬁ '
3. Thesumof57 and a numbel; b 57+

5. 18 less thananumberci C- |gs
7. The quotient of 8 and twice a number z | 'S
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Find the unit rate.
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EESTHE Practice B
_ A4 . For use with pages 21-26

Write an equation or an inequality.

1. The difference of a numberc and 17 is more than 33.{ C=1F23>

) . . e . ey
@ The product of 3 and a number xis j@sS +Fhan-dV. | A% L\
3. The sum of 14 and twice a number y is equal to 78. ‘ 14 + 97/ 7<g

4. The difference of 22 and the quouent of a number m and 4 is 54.

Check whether the given number is a solution of the equation or inequahty
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Computers You are buying a new printer and a new scanner for your computer,
and you cannot spend over $150. The printer you want costs $80. Write an inequality
that describes the most that you camrspend-orr the scanner and still stay within your

budget. ) :
K> HAve $ 150 +o spend Varicble> X = CosT OF SCRaNER
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Complete the sentence.
1. The input variable is called the Z\ variable.
- 2. The output variable is ‘called the ! variable. , )(0\0\6

Tell whether the pairing is a function.
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Make a table for the function. Identify the range of the function.

) Xl! | \\2 !\’b \l'—f
2l ko (4 —
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‘Write a rule for the function.
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11. Shoe Sizes The table shows men’s shoe sizes in the United States and Australia.
Write a rule for the Australian size as a function of the United States’ size.

6. y=4x -2
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Write a rule for the functlon represented by the table.

of the function.

LEs3oN Pra Ctice C continued AN »
1.7 For use with pages 42— 48 AN
‘Graph the function. ‘
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Write a rule for the function represented by the graph. CReate A TABLE. Y= X _,_3
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Identify the domain and range
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15. Wind Chill Temperatures The tablé shows the wind chill = - !
 temperature w (in degrees Falirenheit), or how cold it feels S 35 1/
to you depending on the wind speed, as a function of the 2 30 .4
actual temperature ¢ (in degrees Fahrenheit). §, 5 ‘
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a. Graph the function-represented by the-table. \/ Actugltemperature (°F)

b. Describe how the wind chill temperature changes as the

actual temperature decreases.
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